mathematical backgroand may

1t may be emphasized that

not be very important {o use a
computer or to write a program
for a computer. However, we .
are to deal with numbers also
guite frequently in programs
ming. Let us discass a few

arithmeti¢ operations that are

% ‘ . -

. B .
mmportant  when programmin
in BASIC language. s e

.. We alrady have the impre-
$810n that.computer is -a sop-
histicated c¢alculator, and we
¢an add and subfract numbers

. by using plus and mi igns:
PRINT Ii 3 mmu# Signs;
PRINT 12.7 . =~

PRINT 5 8.3 -2.] .

. 'The aboVe are few comm-
ands and it may be noticed that
the numbers with and Signs

- are written all on one line, and
the computer will add or siib-
tract from 1eft to right. -

" It doesnot mean that-
computer canm not do other
operations like multiplication

~and- division. Of . course
computer can performmultip-
lication and division also.
To aultiply asterisk $ym-

bol () is used, To divide the - -

stash symbol (I) is ased.

We -,
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are to remember that. every-
.thing has to be on one line, To

similarly- to divide _12 by-4
1274,

~ the order of -the operations,
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__shultiplication. and division
operations. The exponention
operator is an up arrow {1}
On  various micro computers
in. Some micro computers

muse a carot symbol (v) in

- most of the cases. For example
5 43 10 starts with 4/3, which
means 4 raised- to the third

-:-_‘{;-_-;E.ﬂ'_"; .
power {cubed), or 64, The ndt .
operation is the multiptics i
64. 10, or 640, the next opaj-

. tion is the addition 5 640 br |
645, for the final result. :

EXPRESSIONS W11
‘VARIABLES i §
We can try using mumiric |
values when we are famiar -
_ o > in using actual numbersh A | .
- , | _ variable is simply a leite or |
R ' “name that represents a2 ghm-

multiply 3 times 4, thé equa-
tion is vtepresented by 3 4.
the equeation is written as

- Next important issue is.

" . 'ber. Those who are cofyer- |
sent with algebraic operatpns, i
would recall using letteg in :

© NUMEric  experssions fors
mulae, - As an example JA-L | .l
W is a formula for gharea | >3
equals length times Wgdth. } . 1
When, we are to [s@vea
x . problem we will have § ssmben ‘
+ for L and number f§r W,
Khich results in a numbsr for
' ] '
g‘ . Let us explain this wilh
T - the help of a sample profgam: :
| 100 L—10 SRR (1 v
100 W-—5 _"1 ]: i!f
I30PRINTA ; B N
Line 120 performs tfe ope- 1

ration of multiplying i@ num-

bers represented by t¥e vari-
ables L and W. Then §ne 130 |

prints the number reprisented

- by the variable A. Il itls desi-
red, we can delete line 20 and i

" just use PRINT LOW fbr line’ i
130. The rsult is the game.. ;
!

;

The . arithmetic Fymbols :
and order of operptgpns ate;
same for variables farg

tants, 11
_(Tobe g

Cons--

o2

tinued). f

The standard rule isto caley- - f !

late from left to right, first
. executing the multiplication
and division, and ‘them ‘the
addition ‘and . subtraction. If j-
we have an equation like 8-12/4, !
the division 12/4 is performed --
first. The result thus obtained
-3, is theén added to 8t o get the
final result 11, 3 | Y
- | 1 -

 Letus suppose we really |
. wanled & added to 12 first,
and then that stim divided by
4. On paper, we could write
8—12 as the numerator of a | -.
fraction : them under the bar, ' e .
we write 1 to indicate division i
However, the  expression ; :
should be written all one line ) i
with’ ¢computers. Parentheses ’
may be used in ¢case of .group
members, "But ift that case we
are to be surée that have .
always a2 matching. pair of
parenthesis, So for our
" example, we can write (§ 12/4,
This time the result-is 20/4, or |
5, In this way we night do 1ot
of experiment§ with. various
.experssions using all the.
operator signs .and different
placements of the parentheses- :
in PRINT statemheénts.”. '~ -
- Now we niay ook irto one.-
ritore step in the order of opera-
tions which i§ - operation con- ,
cerning expe-ents. . Exponents g __
are- petfo ed before. the N |




